1545X8 FRY-JHE

SRAC|EKZ|EL|Ran B2 a8: 84| + | B
&R C 0-8 | 1-2|2-0 1] |2(3|3{10]|-1| 3
mKkZ|8-0 4-0|7-0 13 9 (190 |+9] 1
Exil|2-1|0-4 -0 (2| [1]6|15]5 |+0| 2
BEh| 0-2|0-7]|0~13 3{0[0 (2|22 4

AXKN|ERT|FAE|AFAB |2 GBI B &+ | B
AKA 2-1|4-0{3-03 9191 /[+8] 1
BRF| 1-2 0-1]|2-11] {2|3|3|4]|-1]| 3
AKE| 0-4 | 1-0 5-0 (2| (1|6 6| 4|+ 2
2FAB|0-3|1~2|0-5 3101 [10{-9] 4

BRA[EK-(BAN AED B2 E BB &+ | B
AR A 0-2|1-4]|0-2 3|0 118}-1| 4
K- 2-0 2-011-212| (1|65 |2+ 2
BKN 4-1]0-2 1-2 1] |2/3{5|5]|0| 3
MED| 2-0|2-1] 2-1 3 06 |2|+H]| 1
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